
Year 6 – Summer Block 3 – Statistics

Step 7: Draw Pie Charts
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Introduction

• What do all angles 

around a point total?

• What is the size of each 

angle in this pie chart?

• If the total of all angles 

around a point 

represents 100%, what 

percentage is each 

section of this pie chart 

worth?
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Introduction

• What do all angles 

around a point total?

360°

• What is the size of each 
angle in this pie chart?

36°

• If the total of all angles 

around a point 

represents 100%, what 

percentage is each 

section of this pie chart 

worth?

10%

10%

20%

30%

40%

50%

60%

70%

80%

90%

100%

36°

© Classroom Secrets Limited 2018



Varied Fluency 1

Fill in the missing information.

Favourite movie genre of Year 6

Genre Number Degrees 

Action 90
o

Adventure 13

Comedy

Drama 42
o

Fantasy 11

Total 60
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Varied Fluency 1

Fill in the missing information.

Favourite movie genre of Year 6

Genre Number Degrees 

Action 15 90
o

Adventure 13 78
o

Comedy 14 84
o

Drama 7 42
o

Fantasy 11 66
o

Total 60 360
o
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Varied Fluency 2

The circle below is split in to 10 equal parts. Construct a pie chart 
using the following degrees

72
o

36
o

108
o

144
o

© Classroom Secrets Limited 2018



Varied Fluency 2

The circle below is split in to 10 equal parts. Construct a pie chart 
using the following degrees

72
o

36
o

108
o

144
o
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Varied Fluency 3

Complete the table. Use the data in the table to construct a pie 

chart.

© Classroom Secrets Limited 2018

90 Adults’ Favourite Drinks

Tea Coffee Hot Chocolate Water

10

120
o

120
o o



Varied Fluency 3

Complete the table. Use the data in the table to construct a pie 

chart.
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90 Adults’ Favourite Drinks

Tea Coffee Hot Chocolate Water

30 30 10 20
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Reasoning 1

This pie chart represents 60 items of litter found on a beach.

If one third of the litter is other and tins cans and crisp packets are 

equal, how many crisp packets were found? Explain how you know.

plastic bottles

crisp packets

tin cans

other
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Reasoning 1

This pie chart represents 60 items of litter found on a beach.

If one third of the litter is other and tins cans and crisp packets are 

equal, how many crisp packets were found? Explain how you know.

There were            crisp packets found because...

plastic bottles

crisp packets

tin cans

other
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Reasoning 1

This pie chart represents 60 items of litter found on a beach.

If one third of the litter is other and tins cans and crisp packets are 

equal, how many crisp packets were found? Explain how you know.

There were 5 crisp packets found because plastic bottles (half) = 30; 

other (one third) = 20; crisps and tin cans together = 10 and half of 
10 = 5.

plastic bottles

crisp packets

tin cans

other
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Problem Solving 1

Annie is creating a pie chart about the favourite animals of Year 6. 

In a class of 90, 25 children chose tigers, one third of the class chose 
monkeys, 12 children chose elephants and the rest chose other 

animals. 

How many children chose ‘other’ animals and how many degrees 
would they represent on a pie chart?
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Problem Solving 1

Annie is creating a pie chart about the favourite animals of Year 6. 

In a class of 90, 25 children chose tigers, one third of the class chose 
monkeys, 12 children chose elephants and the rest chose other 

animals. 

How many children chose ‘other’ animals and how many degrees 
would they represent on a pie chart?

23 children chose other. They would represent 92
o
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The sum of the numbers in 

my survey is 100. I need to 

divide 100 by 360 in order to find 

out how much each participant 

is worth in degrees.

Reasoning 2

Raj has created a table of information which he wants to convert 

into a pie chart.

Do you agree with Raj’s method? Explain why?
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The sum of the numbers in 

my survey is 100. I need to 

divide 100 by 360 in order to find 

out how much each participant 

is worth in degrees.

Reasoning 2

Raj has created a table of information which he wants to convert 

into a pie chart.

Do you agree with Raj’s method? Explain why?

Raj is incorrect because…
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The sum of the numbers in 

my survey is 100. I need to 

divide 100 by 360 in order to find 

out how much each participant 

is worth in degrees.

Reasoning 2

Raj has created a table of information which he wants to convert 

into a pie chart.

Do you agree with Raj’s method? Explain why?

Raj is incorrect because he has swapped which way round he 

should divide. He should divide 360 by 100, not 100 by 360.



Task 2

• Choose the challenge for you.

• Look at the bottom of the page, red star with D 
(easier)

• Blue Star with E (medium)

• Gold Star with GD (harder)

Answers found at the bottom of this powerpoint.  









Answers



If you finish, try this…



Answers for extension 


